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$��������������%&�'�()))�#��	���*��� ��
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/������0��1�� �0�����23�����4����25����	��2��26�

���#��7���*�� �����������

�����+�������1�������8�����5

#��7���$���9�:

"� ��7�! ��7��

��������

;������:���1� ���������������������3����/��� �� ������5�������� �� ���� � ������

����� ����� ����� ���� ��6��� � �� <��� ��� �������� ���� ������7� ��� � � ���� ����2� 
� �

�3� � ��� ���3��6����=������	�7�6��������	�������2�>�&&?@2�;���� ��3�3���=��7����= ��

�=�������7���� ����3��6����� ���� ���������� � ������33�����2�������7��� ����=���� �

5��=����������	����� �	������3��6���� ������1������ 	������������ �2�;����3��������1

��� � ������33������������� �������7����������7��������������� ��������7���������������

��������0�6���������������������������� ����������= �����=����7��������������<� ��7

 �� ����� ��� ���2� ��� 3��	�� �� �� ��7� ���=� ��=� �� �� 3��6���� ���� 6�� ���	�7� �� ��

� � ����  ������� ��� ��� ���� 6���� ��� ��� ��	 ����������  �3��	������2� 
��� �����7

3��6����=�����7�� ������ �3�������� ���3��6���������������������2������������3���

= 7��3���3��� 	���  ������6������1��� � ���� ����� ����� ��� ���� ��5�� ���������������6��

�� ��  �� ���� ����������  �� ����  �������� ��� ������ ��� ���� =���� ������  �� ���������� ��

3����� ��2� ����� �� �� 6���	 ������ ������� ���  �� ��5���  ���� ��������� ���� ����� ��� � ���

6��7��� = ��� ������2� ��� ���=� ��=� ������ �=�� ���� 7���� ���� ������� ���� ������ ��� ��

�3� ������ �� �������7��7����������� ������3�2

������������������������������������������������
�� 
� �� 3�3��� ���� 6���� 3�������7� ��� ���� =��5���3� A��3 � ���� B�7�� ��� ��� ���� �������� ��7

��	 �������A� C����-))���������B����� �2���� ����5� ���� ����� D����� 3��� � 3����� ��7�  �� 3��� �����

�����EF�D�������� ��7��� ��7��������������� ��3�3��2



-

��� 	��� !"��# �


��� �����3���� �����������6�����3� �����=� ���������  �3������� ������� ��� �� �� ��� ���

���	��� �����3����������>/���G�/��$�-���B@� ����6��������2�;�� �������������������

 �3������� ���������� �� �� ����  ��<���� ��� ������ 6��� ����� ��������� 7���� ��� ������

3����� ������� �� ���6��������������� ������������� ��������� �� ���������=��� ������7

���� � ��� 3�3���� ��� 7��� ��� ��� ���� 3������ ��� �� �� ���2� ;��  �� ����3��7� ����� �� ���� ��

�� �� ������ ���7���������7���	�������7�6��H�����)�� ���������7���� �������������

�� ���7� ��� � ����� �� ���� 6�� �������� ���� ����  �7������ ��� 3�=��� ���� ���2� 
��������

�����3������ �� ������	������������ ��������������������� ����� ������ �� ������������

�������2

:�� �	 ��� ��� ����3��6��� � �� <��� ���  �� ��6��� ������  �� ���� ��� ���� 3� �� � ��� ��� ���

����3���� ��	 ���������� 3�� ��2� 
��� �"� ���� �3� ��� ��=� ��� �7� �� ���� ��� �� �� ��

����7��7�������������7�����5����7������ �� �������7��7�������������������� ������ �	�

�� �� �6I��� 	�2� ;�� �� �� 3�3��� =�� = ��� �������� �����  �� 7��� �� ���� �� �� ��� 6�� ���

�����3����������2


���� ����7 ���� 	����������/��� �� ��� �3������ �������������� �����	����������7��7�

 �� �&&�� ��7� �&&9� >&�'99�'��/� ��7� &9'�-'�/@� =���� �� � � ��7� ���	 ��� 6��  �7�����2


������3�� ���=��� ����� �� ����� ����6���� ��� ���� ���� ������ ��� ���� ����7��7����7�6���

�������72�
���:���1� ������������>�66��	 ���7����:��@�����������������+��� �����

���� /��� �� ���  �� �����6���� ��� = ��� ���� ������6 ���  �7������ ��7� ���� � ��  �7������

���� ���	���7� ���������������������������7�����2�;������:��1;�����������>�&&-1

�&&%@������+3� � ������1������ 	�������33����������6���������=�72�
���6�� ��3��� ��

=��� ������� �� �������7��7�������=���������=���� �����=������<��� � ��� ������������

I��� � �7� �������������������3����=��������������6���� ��<��� ����������� ���"���� ���2


������3��+ ��������������� ���6��=������ �� �����7��� ������7���6���� ��<��� ���=��

��5���  ���� �������� 	 �� �����3��� �� � �� 3����� ��� ��7���� ��7� ������ =��� ��� ������� ��

��5�� ���� �� �� ��� ����7��7�� ���3���� ��� ���� ������ 3�� ���  ����������� ��� ������ ���

����� <��� � ��� ����� ����� ��� ��+��� ���22�
��� ����3���� ���� ������ 7 7� ���� �����=� ���

��������7�� ���� ��� ���� :��1;� 6��� �3��7� ���� ����� ��� ������ ���� �� �� ��� ��7� ����

����7��7�2� ���� ��� ���� �������� � ���� ��	�� 6���� ���� ��6������7� ���3�� � ��� ��� ���

:��1;�����3�=�����������������7� �7������=����	����3�������72


��� �����7� :��1;;� ���7�� ����� ������7�  �� �&&.� ��5���  ���� �������� �� = 7��� ������ ��

3�� ��� ��������� ��7� ��� ��� ���  �3��	�7� ��7���� ��7� 7���2� /�-� �� �� ���� ����  �

3� �� 3���������� ����� ������:���1� �����������2

;������:���1� ���������������������3����/��� �� ������5�������� �� ���� � ������

����� ����� ����� ���� ��6��� � �� <��� ��� �������� ���� ������7� ��� � � ���� ����2� 
� ��  �� �

���3��+��+��� ���6�����������=��7 �� ���� ��2�
���� ���� ������3����������������� �����

������ ���������������� ��2�
� ��������������� �� ���� � �����������6��7 ������� ���7

��� ���������7�������77 � ����� �������������������6������ ������� ��� ��� ������ ����� �

<��� ���� � ��2�
��������7�7 �� ������ ������3��������������������� ���3����� ��2��������

���� 3����� ��� �� � ��� ���  �� ���� ��� ��� ��7�� �3� 7���� ��� ������ ��� ����  �� ����3�2

������ ����� �� �������7��7�� ���������  �� ���������������3��+��+��� ���  ��=� ��� �����

�����3���� ��7���������������� ���� ���7�7����� ��� ��������3����= 7����������� ��� ���

�� �� ����6����������7������<��� ��2



(


� �� �3� � ��� ��� 3��6���� =��� ���	�7� 6�� ������	�� ��� ��2� >�&&?@2� 
���� ���6 ��7

 ������� ������������������7 �������������������7� ������� ��������� ��<��� �����7���

 ���� �� ����� � � � ��� ��� �����=��52� ;�� =��� ����7� ����� �� 6������7� ���6 ��� ��� ��

���7 � ����������� �� ���������� ��������������7���������7 	��� � �7������3������������

������� �	�������6I��� 	�������������=����	����������2�
� ��� �����+��� �������6�������

6�� ��������������3������ �� ���������� ����������=�����������-))H���=��7�2�;��=��

�����=�7�6������=���������3���������1������ 	�������+��� ���>�����7�:��1;;@2

;�� �� ��3�3���=��7 ������ �������� ���������7���� ����7 �� ���� �������������7�  �� �� �

�+��� �����7����=���=�������� �����������7�������������������������2

������7�� � ����=����  �� 5��=����� �����	����� �	������3��6����  �� ����1������ 	�����

������ �2� ;�� �� 3���� ����1��� � ����� �33������� ������  �� �� ���7����� ��� ��7�������� ���

��� ������ ��7����� �������������������0�6������� ��������������������� ����� �����= ��

��=���� 7�� ����� ����� ��<� ��7�  �� ����� ��� ���2� ��� 3��	�� �� �� ��7� ���=� ��=� �� �

3��6��������6�����	�7��� ���� � ���� ������� ����������6���� ��������	 ���������

 �3��	������2�;��������� ��3��6���� ����	�� �����������3��6�������	�7�6�������������2

>�&?&@2� 
��� �����7� 3��6���� =�� ���7��  �� ����  �3�������� ��� 3��6���� ��� �����

��������2� ����� �� ����3���� = 7�� 3���3��� 	���  �� ���� 6�� ����1��� � ���� ����� ����

��� ������5�����������������6��� �� ��  ����������������  �� ����  ����������� ������ ��� ���2


� �������������7�����6�� ��������7� ����������1������ 	�����������7��������7��������

������� ������ �����3� ����6��7��2�������=���=� ������ �=������ 7���� ����������� ���

������ �������3� ������ �� �������7��7����������2

���� ��� -� 3�������� ���� �������� :��1;;� ����1��� � ����� �����7�����2� ���� ��� (

7 �������������	����� �	������3��6���2����� ���9������������ �3�������� ���3��6���

��� ��������������2� 
��� ����� ���� ���  ����������� 6���� 3��6����� ����� �����2� 
��� 7����

�3� � ��� ��� 3����7���� ��7� �������� ��� ���� ������ ��� ��� ���� 3�� ��� 6��7��� ���� 6� ����

�+3�� ��72����������7��= ����������	����2

$�� �%&��"��&���� ���&''&��#(&�&���)&�% ! * +,

;������:���1� ���������������������3����/��� �� ���������6I��� 	��������������� �� �

������������ �� �������7��7�������������7������<��� ���������� �������������� ��������6��

������� ������6 ����� ��<��� ��� �������� >/���*��D�����$�-���B�)���D���@�����������

������=��������2�
��������������������7���� � ���������� �� �������7��7�������������	�

���6�����3���7�= ��������������������<��� ���� ��3��� �����7��� ���������3��������

�����3����7����7����������� � ����������������7��� �� �����7��� ���  �����1�����3���

�������2�
� ��  ��7����� ������������� ���� ����3�� �7�-)))1-)-)���7� ���� ���� 3���������

���� 7���72


� ��  �� ��	���� ��6 � ��������2�
��� �33������ �����=�7�����6���� 6����7������7��� ��

� ����� �2� ���� ����  ��� ��� 7 �������� ��3��� ��� ��������� ���  �3��	�� ���� ��6��� � �

<��� ��2����������������� ������������3������������2�� ��������������� ��������������

���� ���������7��������6���������� ������2�
���� ����7��	�� ������ �� �������7��7�������

<��� ��� ����7��7���  ��3��� ��� ��7� �� ��������� ���������� �����3���� 7����7

�������������7������� �� �����������> ����7 �����+������2@2



9


���3����� ����������� 	�����������������7� �����������3������7���>���������������6��

�������7������������� 7���7@� ����7������7����� ��� ����	������������������ �� ������7

 ��� =������� ����2� 
� ��  �� ���������� 6������� ���� =������� ����� ��7� �� �� ��� ��7��� ��

������� ��� �����3���� 7����7� ��������� ��<� ���� =��5 ��� ��������  ��� �������� ��� ���

�����3���� ���5���2� :�� ��� �+��3��� ���� 7��� ��=��� 3�6� �� �����3���� �����2� 
� �� = ��

 ��������6���������7�6����� �� ����6���= ���7������������������7������� �� ���2�
��

��7������7������� �����3���� ��� ������
��B�G�������3������7���>��;1!"#��	���

�&&&@2�
������3�������� �����3� ����� ���������������= ���������������������7 �7���������

�� �� ��� ��7��� ��� ������� ���� ����� ����� ��7� ���� ������ =������� ����� ��� ���� �� �� ��

��7��� ��2


���������=��������������������3�� ��������������� ���������������������0�����������

 ��������������3����������������3�������5�����+3�����7� ��������� ��7�����������-�����

������� ��3��7��������3����3��������������� ����+���	�����	����7������������ ��������

���3�6� �����7�2�:�6���7�=������������3��=������7�7� ����7��� ���������������������

6�� �� ���� 	�� ���� ��� 3�� ������������ ��� 6�� ���� 7���72�
���=������� �����3��  �� �����

6������� ��7�������� ����7������� ��3����� ���6���� ��2


�����+�����3� ������������ ������ ���������1������ +������������� ������ �	������������

��6 ���� � �� <��� ���  �� ���� 7 �������� ��6��� ������  �� ����3�2� 
� ��  �� 7���� 	 �� ��

�3� � ��� �����7��� >#�"G�$� ;;��������	�� ��� ��2>�&&?@@� ����� ���6 ����  ������� ��

����� �� �����7��� �����7����������������3����� ���3�� ��� �����������3�������������7� �

������ �������� ���� ����� �� �� ��� ��� ��� = ��� � �� <��� ��� ��7��� ��� ����� ���� ����

���������� �� �� ��� ��7��� ����  �� ����� �� �� ��� ��� ���  ���� ��������  �� ��6 ���� � �

<��� ��� �����

����3������6��� �����2�
� �� 3��6����  �� ���	�7� � ������������� ���� ���� �������7� ��6��
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:������ ����� ���� ���������� ���� 6���� ��� ��� �� �� ��� ��7��� ��� ���� ��������2���� ���

�����������������	��������= ������� �3����������� � �������������������6������� ��7���

������	������ ����� 	��� ���7����2�
����3� ����� +��������7�= ����� �������7������ �

����� �3� ����  �� ��� ���� ��� ���� ����3���� 3�� ��� ��5��� ����  �7��7� �������� ���� �����

��	��������6���	 ���2�;���� �� ���������� ������6��6������������������������������������

��7��������������������������2
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;�� ���� �3� � D�� ��� ��7��� >7��� ��7�  �� �33��7 +@�� =�� ���	�7� ����  �3�������� ��

3��6���� ����7 ��������=��2�;��3��	�7� �3��� 6��������������7��������=��� ���3��6���

��� ���� ����3���� ��	��������� ��� =�� ���� ��� � � �� ���� 3��6���� 6��  �3�� ��� ����� �

����� �� 3���������� ��� ���� � �� <��� ��� �������� ���� ��� 6�� ������7� 6�� ���6��� ��������

6�������������5������������������� �3�������� ��������������������2�
������������ ���

����6������7� ��������� ����>?2H2%@���7�>?2H2.@� �������33��7 +2�
��� ��� � ������������

�+����������� ���� �������=����	�������7��6�	������� ������ �3�������� ���3��6������

����������������+ ����� ������6���3� ����������������������6�����������2
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 2� #). ������ #�� �%&� �% #�&�  '� � ���&''#�#&��,�)&�% ! * +,� 3� �

�")&�#��*�&(�*"��# �

1��� �� .&


������ �����������7������ ������� ������ ���������7���������:���1� ��;�3��6������ ���

������ =���� ��� ���� � ���� 7���� �	� ��6��� ����� :��� ;;2� ;�� :��1;�� ��	��� ����3���

��� ���� >:������� !F���� ���� E����� #��7���� #����� B�7� 7�� ��7� B ����@� ��7� ����

3����������=����  ����3�����7�  �� ���������� ���=� ���������������� ��3�������� 	������

>-)�)@2� �����5� ����� =�� ��	�� ���� �����6���7���� 3��������� >�D���@� ��7� ������ �����

3���������2� 
��� ����� ��� ���� ��7���  �� ����� ��� 7����� ��� =� ��� �������� �����7� 6�

 ����7���7� ���������� �������6�� ��������<� ��7�� ��<��� ����6I��� 	����������������2�;�

��7������3��	 7�������������+ 6 � ������3��� 6����������7��������������6��=������= 7�

	�� ���������������� �����������3����������2�:�����������1�����3�����������>�2�2� �7�����

��� ���6��� ��@� ���� 6����  ����7�7�� ����� ����� ���� ��7��� ���� ������� 7����� ��� ���

����� 6�� �����������������2
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����� ���� �������� ���� ��7���  �� ���� �33��7 +�� ���� 7���� ��<� �������� ���� 6�

7����� ��72� � ����� 7���� ��� ���� ����� ���  ����7�� ��� �� ��������  �� �� ��� ���  �� ���7�72

:�����������	 ���������������� 	���������������������� ������� ��������3���������������

6���3�� � �72��������������������7���7����7��������<� ��7�� ��<��� �������������7�7���

��� �� �� ��� ���������� ��� ����� ���� 3�2� � ������� 6���� ��� ���� �	����� �	������ ��7

� ����������7����� �	��������	�����6��<���� � �72


��� ������ ���  ����7�� ��� ����� ��� ���������  �� �� ��� ��(� ���� 6���7� ��� �� =������� ����

�����3�� �����������������3� ���� ����� ������������������ ������������� � �� ���3����� ��

�6�������� �<� 3����� ��� 	�� ������ 6��� ����� ���� ������ ��� ���������� ��� 6���	 ����

�7I���������  �7���7� 6�� 3�� ��� ���������� �2�2� ��7��� ����  �� ��6 � ��2� E������ �����

������������������������������������������������
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����6I��� 	��� ��7� ������ ��� 3�� ������������  �� �� ��� ��� ���� ������7� ��� 6�� ��3�������� 	�� ��� ���� ������ ���  �
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� ��������������+��3������������������������������������������� ����7���7� ������!F��

��� ��� ���� ���� ��� ����3��� 	�� ���� ����� >�������� ������ � ���� ����� 3��� � ���@����� 3� �7� 6�� ���� � D�� ��� ���� ��� ��

������� 	�� ���� �����2� ;�3� � ����� ����������� ���� ������ �� ��	���� ���� �����= ��� ������ ��0� �������� ��������� 
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$��������7���"� ��7�! ��7���� �������� �3� �� ��7� ;����2�/�������� �� �� 3����7���� �������� �� � �� � ����� 7������ ��

�	���� ���= �� �������� ��2���	����������<��������� ���������� �������3� ��2�� �������������������� ��������������

���������� ��<��� ����6I��� 	���������3�������������������7��	���=����� ����3��� ��������������� ����	���������������

�������6������������������������3����������������������� ������������7��7�� ����������6I��� 	�����	��6�������������7
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6��  ����7���7�  �� ������ 3����� ��� �� �������� =����� ����� ���� ������� ����������� ��� �� O����P� ������ ���� � 5���� ��� 6�

�	����� ����7�6������������=���7��������	�����6�� ����7���7� �����1���� �����������2
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������7�� � � ����������7 �������������3��@� ��� �3��������������������������������������

����������������� �������6��7��2
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��7��� ���2�;���� ��3�3����=���������3�� � ����������������3�������������� 	����������

6��7��������#�"G�$�;;1��7�������������������������7����+ 6���=����6���7����������1

���������2������������������33��7 +����������7��� ��2

:���� � �� <��� ��� �����������7� ���6�� �3�� � �7��  2�2� ���� 3���������� ��7��� ����  �� ��6��

�� �� ���� ��� =���� ���  �� �D���� ���������� ���� ����� ���� ��<� ��7� ��� 6� ��� 7�=�� � �

3����� ����������3��6�����	���2�*���� ������"�:���7� �� �����"�����6�� ���33��������

� �� <��� ��� 3��6����� ���� ���� ��� ��<� � ��� ���� ���� ������ ��� �� ����� � �� <��� ��

����7��7�2��6	 ������������ �������3� ������7�� � � ����������������7��7�2�;�� �����"�� �

<��� ��� ����7��7�� ���� 6���7� �������7�E����������� D�� ��� �� 7�� ���� ��7� ���� ���� ��

�� �������	����������������"��������������� �������3�������������7 ��������3������7�� ��

7 �������� � ���  ����	���22� 
����� ��	���� ���� ���������� ��������7�� �6�	�� =� ��� ������

� �5��6��������� �������� �� � �����7���������	������ �����7���� ��������������2

:��������� ��<��� ��� ���+3�����7� �� ������������������� �����3�� � ������������������

�� �� ���� ��7� �� ��  �3� ��� ����� ����� ���� 6��=���� �� �� ���� ��7� ���������� ����= ��

��	�� ���6��  ����3�����7�  �� ���������� �2�� ��� �����+��3� �������D���� ������ ����� ���

����� �������2�2����Q���7��� ��� ��$�+��� �� �����6� ����7�=��$�+����������� ����6�

�Q2������D����� ������ ����� ��������� ��������� ������6��� 1��	�������� �� ������� 1� ����

����6���33��+ ����7�6��� ���������� ����=� ���� �5���7��� ���� ����� �����G�/���7

$�+� �� �� ����  �� ��� ���  � ��� ��������  �� �D���� ��	����  �� ��� ��� I2� 
� ���  �� ������  �

������ D�7�  �� �=�� ��1�����7� O6����P� ���� ���� >���� ���� ��� ����� $�+� ��7� ���� ���

��� �����G�/@���������� � ��������=� ���� 	������3������������7��� ��� ���D������	���

 �� �� 3��� ������ ��� ��� 7��� ��� �� �Q� ��7��� ���  �� �� �� ���� ��� ���� ������3��7 ��

3��������� ������������� ��2

*���7������������� �����6�	����+3����7������� �����=������=���������������������7�

����7���7�  �� �� 	�� ���� ��� ��������� �� ��������� ���� 6���� ��7��  �� ���� �����+�� ��� ���

:���'� ���������������O6���� ��P��� �� ������7�� ��<��� �����	�����������������-)�)

 �� ��	��� ��3�������� 	�� ����3���� ��� ���� >����3���� /��� �� ��� �&&%@2� :

���3�� ���� ��� ������ ��	���� = ��� ���� � �� <��� ��� ����7��7�� � 	��� �� ���� ��� ��<� ��7

��7��� ���� ���� �� ���2
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��3������� 3���������� ��7��� ����  �� ��������� �D���� :�
&)� >:�������� 	�� �+3�����

�	��� �� 
�������7@� � �����2� :�
&)�  �� 7�� ��7� ��� ���� ���� ��� ������� �D���

���������� �����+���7 ���&)�3�����3���� �� ���7�� ��������������B����C������7�C���2
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&)�	�������������������7��������������-)�)�= ��������B���B�/1����7�����

���� �=�7 ��� ��	 ���������� ��������� ;��� ����� >� �3���� �&&��� �37���� �&&H@2� 
��

��7��� ��� �������  �3���7� ���� :�
&)�  �� ���� ������ ��� �������� ����� 5��3 ��� ����		
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#� �D���� ���������� ���� ����� ������ 6������� ��� ���� ��7�� �� �� ���� ����

�����3����� �����7���������3�����������2

� ������� 6���� ��� ��� �	����� �	 ��� ����� �� �������� ���� ���� 7���7� ��� =���2� 
����

6���� �������7�� ��7��������R��=��7S������������ ����� �������	����� �	 ��� ��������������

������� ��3��������2�:���+��3������ �����6���� �������6�� ����7�  �� ��6���� �� ���7��6�

;GB� ��� ��2� >�&&.@2� ;�� ���� 3�3���� =�� = ���  ���������� ����  �3�������� ��� ���������

���3�� ���������6���� ���6��	��� ���������	��2
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�������� >;B@2� 
�����  �3��� ��� ��7� �� ��������� ����7����� ���� ��5�� ���� ����� ��

������� ���7� ���� ��� ��� ����  �������� ��� ��� ��� 6���7� 7 ������ ��2� :���� ���1����� ���

��������������������� ����7�72�B�����3�� � �������=�����5����3�6� �������3������6� 7 ��

>�"*@� ��� �3� ��� 9)Q� ��7��� ����  �� ������� ����33���� �������� >�/�@� ��7� ���������7

� ������ �����+���>�B@������������������ ������ �����+���������	��������������� �� �����

����� �� 3���������� ���� ����� ��3�� ��� ���22� 
��� �����  �� ���� �=�� ������� ��� ��� 
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�����7�
��@����������� �����6����������������������7����� �7 ����7� �
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Appendix 1: Table A1: Results of simulations

Targets

Overview

Total Gross Cost: 4629.14 4999.31 5349.31 5462.68 2459.74 3690.90 5581.49
Total Benefit: 0.00 2599.94 4355.17 3412.71 0.00 0.00 0.00

Total Fine: 0.00 0.00 0.00 0.00 1183.59 596.03 0.00
Total Net Cost: 4629.14 2399.36 994.14 2049.97 3643.32 4286.93 5581.49

Athens

COSTS
Gross Cost 251.19 342.56 360.18 217.35 296.92 251.19 238.38

Total Benefit 0.00 114.43 240.77 182.24 0.00 0.00 0.00
Total Fine 0.00 0.00 0.00 0.00 0.00 0.00 0.00
Net cost 251.19 228.13 119.41 35.10 296.92 251.19 238.38

BUNDLE COMPOSITION
Category Set Cost Set Cost Set Cost Set Cost Set Cost Set Cost Set Cost
FUELS F04 15.20 F05 21.64 F05 21.64 F04 15.20 F00 0.00 F04 15.20 F00 0.00

IM IM03 7.26 IM03 7.26 IM03 7.26 IM00 0.00 IM03 7.26 IM03 7.26 IM03 7.26
Non Transp NT04 51.60 NT06 125.83 NT06 125.83 NT06 125.83 NT06 125.83 NT04 51.60 NT06 125.83

PUB PUB01 -3.98 PUB01 -3.98 PUB01 -3.98 PUB01 -3.98 PUB01 -3.98 PUB01 -3.98 PUB01 -3.98
SCR SCR02 20.20 SCR02 20.20 SCR02 20.20 SCR02 20.20 SCR02 20.20 SCR02 20.20 SCR02 20.20
SM SM05 139.20 SM05 139.20 SM05 139.20 SM03 14.40 SM05 139.20 SM05 139.20 SM03 14.40
TED TED08 13.41 TED06 0.12 TED13 13.84 TED08 13.41 TED06 0.12 TED08 13.41 TED09 42.38
TEG TEG04 8.30 TEG07 32.29 TEG08 36.18 TEG07 32.29 TEG04 8.30 TEG04 8.30 TEG07 32.29

EFFECTIVENESS
Pollutant Required Achieved Achieved Achieved Achieved Achieved Achieved Achieved
Ozone 45 60.72 81.24 82.63 81.36 79.07 60.72 82.07

RegNOx 0 35.12 46.42 47.44 46.16 44.93 35.12 46.50
RegVOC 30 38.57 42.35 46.80 37.08 37.01 38.57 36.33

UrbanNOx 41.25 41.44 46.97 49.28 41.34 41.50 41.44 41.54

Den Haag

COSTS
Gross Cost 500.54 762.57 525.92 605.68 154.22 465.78 363.90

Total Benefit 0.00 1040.25 1622.56 269.53 0.00 0.00 0.00
Total Fine 0.00 0.00 0.00 0.00 784.21 596.03 0.00
Net cost 500.54 -277.68 -1096.64 336.15 938.43 1061.80 363.90

BUNDLE COMPOSITION
Category Set Cost Set Cost Set Cost Set Cost Set Cost Set Cost Set Cost
FUELS F05 34.28 F05 34.28 F05 34.28 F05 34.28 F00 0.00 F00 0.00 F00 0.00

IM IM02 0.48 IM02 0.48 IM02 0.48 IM02 0.48 IM00 0.00 IM00 0.00 IM00 0.00
Non Transp NT08 397.23 NT08 397.23 NT06 113.03 NT08 397.23 NT06 113.03 NT08 397.23 NT06 113.03

PUB PUB01 -5.88 PUB01 -5.88 PUB01 -5.88 PUB01 -5.88 PUB01 -5.88 PUB01 -5.88 PUB01 -5.88
SCR SCR00 0.00 SCR00 0.00 SCR00 0.00 SCR00 0.00 SCR00 0.00 SCR00 0.00 SCR00 0.00
SM SM03 21.25 SM05 205.48 SM05 205.48 SM03 21.25 SM03 21.25 SM03 21.25 SM03 21.25
TED TED08 43.60 TED06 16.25 TED13 58.22 TED08 43.60 TED06 16.25 TED08 43.60 TED09 120.79
TEG TEG04 9.57 TEG07 114.71 TEG08 120.30 TEG07 114.71 TEG04 9.57 TEG04 9.57 TEG07 114.71

EFFECTIVENESS
Pollutant Required Achieved Achieved Achieved Achieved Achieved Achieved Achieved
Ozone 67.5 68.47 67.91 68.63 72.09 51.82 61.54 68.42

RegNOx 0 46.86 52.29 47.78 53.55 33.38 45.79 46.99
RegVOC 0 63.81 70.67 51.77 66.33 43.93 62.78 46.22

UrbanNOx 3.75 41.39 55.76 57.84 53.07 32.31 39.41 52.76

Share gl. measures 10%Base Case Ben NOx Urb Ozone 5 Fines NOx Urb Ozone 50 Fines NOx Urb Ozone100Ben NOx Urb 20 Ben NOx Urb 30



Appendix 1: Table A1: Results of simulations

Targets

Koln

COSTS
Gross Cost 0.00 1004.74 1280.54 1238.86 507.65 743.27 1562.27

Total Benefit 0.00 696.47 1128.68 332.18 0.00 0.00 0.00
Total Fine 0.00 0.00 0.00 0.00 0.00 0.00 0.00
Net cost 1305.02 308.28 151.86 906.68 507.65 743.27 1562.27

BUNDLE COMPOSITION
Category Set Cost Set Cost Set Cost Set Cost Set Cost Set Cost Set Cost
FUELS F00 0.00 F00 0.00 F00 0.00 F00 0.00 F00 0.00 F00 0.00 F00 0.00

IM IM03 69.12 IM02 1.51 IM02 1.51 IM03 69.12 IM00 0.00 IM03 69.12 IM00 0.00
Non Transp NT06 937.91 NT04 376.15 NT04 376.15 NT04 376.15 NT04 376.15 NT04 376.15 NT04 376.15

PUB PUB01 -31.18 PUB01 -31.18 PUB01 -31.18 PUB01 -31.18 PUB01 -31.18 PUB01 -31.18 PUB01 -31.18
SCR SCR00 0.00 SCR00 0.00 SCR00 0.00 SCR00 0.00 SCR00 0.00 SCR00 0.00 SCR00 0.00
SM SM03 112.75 SM03 112.75 SM03 112.75 SM03 112.75 SM03 112.75 SM03 112.75 SM03 112.75
TED TED08 194.93 TED06 28.43 TED13 292.00 TED08 194.93 TED06 28.43 TED08 194.93 TED09 587.46
TEG TEG04 21.50 TEG07 517.09 TEG08 529.32 TEG07 517.09 TEG04 21.50 TEG04 21.50 TEG07 517.09

EFFECTIVENESS
Pollutant Required Achieved Achieved Achieved Achieved Achieved Achieved Achieved
Ozone 67.5 96.96 91.75 94.04 96.88 74.86 84.49 94.45

RegNOx 0 42.81 39.33 44.07 43.75 31.48 35.98 46.20
RegVOC 0 38.56 36.11 36.44 37.45 32.77 34.19 36.18

UrbanNOx 18.75 44.32 53.57 56.37 55.80 39.02 41.52 56.59

London

COSTS
Gross Cost 357.29 689.98 900.95 839.59 311.74 357.29 968.83

Total Benefit 0.00 451.89 833.30 310.98 0.00 0.00 0.00
Total Fine 0.00 0.00 0.00 0.00 0.00 0.00 0.00
Net cost 357.29 238.10 67.64 528.62 311.74 357.29 968.83

BUNDLE COMPOSITION Set Cost Set Cost Set Cost Set Cost Set Cost Set Cost Set Cost
Category F00 0.00 F00 0.00 F00 0.00 F00 0.00 F00 0.00 F00 0.00 F00 0.00
FUELS IM00 0.00 IM00 0.00 IM00 0.00 IM00 0.00 IM00 0.00 IM00 0.00 IM00 0.00

IM NT04 172.07 NT02 68.01 NT04 172.07 NT04 172.07 NT04 172.07 NT04 172.07 NT04 172.07
Non Transp PUB01 -22.43 PUB01 -22.43 PUB01 -22.43 PUB01 -22.43 PUB01 -22.43 PUB01 -22.43 PUB01 -22.43

PUB SCR00 0.00 SCR00 0.00 SCR00 0.00 SCR00 0.00 SCR00 0.00 SCR00 0.00 SCR00 0.00
SCR SM03 81.11 SM03 81.11 SM03 81.11 SM03 81.11 SM03 81.11 SM03 81.11 SM03 81.11
SM TED08 73.97 TED06 28.41 TED13 105.43 TED08 73.97 TED06 28.41 TED08 73.97 TED09 203.20
TED TEG04 52.58 TEG07 534.88 TEG08 564.77 TEG07 534.88 TEG04 52.58 TEG04 52.58 TEG07 534.88
TEG

EFFECTIVENESS
Pollutant Required Achieved Achieved Achieved Achieved Achieved Achieved Achieved
Ozone 67.5 81.60 89.78 104.86 103.11 73.89 79.26 107.57

RegNOx 0 35.50 40.73 47.11 46.45 33.63 35.50 48.02
RegVOC 0 29.50 24.80 34.17 33.95 29.55 29.50 33.95

UrbanNOx 30 39.06 52.59 57.78 56.58 37.07 39.06 58.43

Fines NOx Urb Ozone 50 Fines NOx Urb Ozone100 Share gl. measures 10%Base Case Ben NOx Urb 20 Ben NOx Urb 30 Ben NOx Urb Ozone 5



Appendix 1: Table A1: Results of simulations

Targets

Lyon

COSTS 728.99 751.23 870.85 823.43 257.55 387.27 841.91
Gross Cost 0.00 268.04 526.82 466.49 0.00 0.00 0.00

Total Benefit 0.00 0.00 0.00 0.00 0.00 0.00 0.00
Total Fine 728.99 483.19 344.03 356.94 257.55 387.27 841.91
Net cost

BUNDLE COMPOSITION
Category Set Cost Set Cost Set Cost Set Cost Set Cost Set Cost Set Cost
FUELS F04 94.05 F00 0.00 F00 0.00 F04 94.05 F00 0.00 F00 0.00 F00 0.00

IM IM02 4.66 IM02 4.66 IM02 4.66 IM02 4.66 IM00 0.00 IM00 0.00 IM00 0.00
Non Transp NT06 427.25 NT04 184.23 NT04 184.23 NT04 184.23 NT02 32.66 NT04 184.23 NT04 184.23

PUB PUB01 -22.22 PUB01 -22.22 PUB01 -22.22 PUB01 -22.22 PUB01 -22.22 PUB01 -22.22 PUB01 -22.22
SCR SCR00 0.00 SCR00 0.00 SCR00 0.00 SCR00 0.00 SCR00 0.00 SCR00 0.00 SCR00 0.00
SM SM03 80.35 SM03 80.35 SM03 80.35 SM03 80.35 SM03 80.35 SM03 80.35 SM03 80.35
TED TED08 78.42 TED06 100.27 TED13 182.07 TED08 78.42 TED06 100.27 TED08 78.42 TED09 195.61
TEG TEG04 66.49 TEG07 403.94 TEG08 441.77 TEG07 403.94 TEG04 66.49 TEG04 66.49 TEG07 403.94

EFFECTIVENESS
Pollutant Required Achieved Achieved Achieved Achieved Achieved Achieved Achieved
Ozone 67.5 143.12 135.65 140.87 144.79 105.58 123.00 141.89

RegNOx 0 36.14 32.17 37.99 36.85 21.63 29.19 39.75
RegVOC 3.75 39.55 37.03 36.54 38.29 23.25 31.36 35.29

UrbanNOx 30 39.83 43.40 47.56 46.01 31.12 34.39 46.96

Madrid

COSTS
Gross Cost 0.00 485.36 526.75 623.94 354.34 843.13 672.63

Total Benefit 0.00 2.05 1.90 422.73 0.00 0.00 0.00
Total Fine 0.00 0.00 0.00 0.00 223.92 0.00 0.00
Net cost 843.13 483.31 524.85 201.21 578.27 843.13 672.63

BUNDLE COMPOSITION
Category Set Cost Set Cost Set Cost Set Cost Set Cost Set Cost Set Cost
FUELS F00 0.00 F00 0.00 F00 0.00 F04 75.04 F00 0.00 F00 0.00 F04 75.04

IM IM02 0.92 IM02 0.92 IM03 26.10 IM03 26.10 IM03 26.10 IM02 0.92 IM02 0.92
Non Transp NT06 128.66 NT06 128.66 NT06 128.66 NT06 128.66 NT06 128.66 NT06 128.66 NT06 128.66

PUB PUB01 -15.17 PUB01 -15.17 PUB01 -15.17 PUB01 -15.17 PUB01 -15.17 PUB01 -15.17 PUB01 -15.17
SCR SCR02 99.93 SCR02 99.93 SCR01 16.49 SCR02 99.93 SCR02 99.93 SCR02 99.93 SCR01 16.49
SM SM05 530.46 SM03 54.86 SM03 54.86 SM03 54.86 SM03 54.86 SM05 530.46 SM03 54.86
TED TED08 90.71 TED06 52.35 TED13 147.96 TED08 90.71 TED06 52.35 TED08 90.71 TED09 248.03
TEG TEG04 7.62 TEG07 163.81 TEG08 167.87 TEG07 163.81 TEG04 7.62 TEG04 7.62 TEG07 163.81

EFFECTIVENESS
Pollutant Required Achieved Achieved Achieved Achieved Achieved Achieved Achieved
Ozone 0 84.52 78.19 81.36 84.26 64.33 77.91 81.37

RegNOx 0 34.05 33.61 35.06 36.06 31.11 34.05 36.48
RegVOC 22.5 40.75 37.05 38.79 40.50 34.88 40.75 38.77

UrbanNOx 37.5 37.54 37.60 37.56 37.79 33.02 37.54 37.62

Fines NOx Urb Ozone 50 Fines NOx Urb Ozone100 Share gl. measures 10%Base Case Ben NOx Urb 20 Ben NOx Urb 30 Ben NOx Urb Ozone 5



Appendix 1: Table A1: Results of simulations

Targets

Milano

COSTS
Gross Cost 642.98 962.86 884.13 1113.83 577.31 642.98 933.56

Total Benefit 0.00 26.81 1.15 1428.55 0.00 0.00 0.00
Total Fine 0.00 0.00 0.00 0.00 175.46 0.00 0.00
Net cost 642.98 936.04 882.98 -314.72 752.77 642.98 933.56

BUNDLE COMPOSITION
Category Set Cost Set Cost Set Cost Set Cost Set Cost Set Cost Set Cost
FUELS F00 0.00 F00 0.00 F00 0.00 F04 84.34 F00 0.00 F00 0.00 F00 0.00

IM IM00 0.00 IM02 0.96 IM03 64.05 IM02 0.96 IM02 0.96 IM00 0.00 IM00 0.00
Non Transp NT06 463.64 NT06 463.64 NT04 171.18 NT06 463.64 NT06 463.64 NT06 463.64 NT04 171.18

PUB PUB01 -22.43 PUB01 -22.43 PUB01 -22.43 PUB01 -22.43 PUB01 -22.43 PUB01 -22.43 PUB01 -22.43
SCR SCR00 0.00 SCR00 0.00 SCR00 0.00 SCR00 0.00 SCR00 0.00 SCR00 0.00 SCR00 0.00
SM SM03 81.11 SM03 81.11 SM03 81.11 SM03 81.11 SM03 81.11 SM03 81.11 SM03 81.11
TED TED08 111.36 TED06 44.73 TED13 190.30 TED08 111.36 TED06 44.73 TED08 111.36 TED09 308.85
TEG TEG04 9.31 TEG07 394.85 TEG08 399.92 TEG07 394.85 TEG04 9.31 TEG04 9.31 TEG07 394.85

EFFECTIVENESS
Pollutant Required Achieved Achieved Achieved Achieved Achieved Achieved Achieved
Ozone 60 291.45 301.32 277.12 339.58 268.38 285.42 276.18

RegNOx 0 37.10 36.67 35.31 41.78 32.76 37.10 37.70
RegVOC 22.5 39.51 42.95 37.33 48.53 39.57 39.51 35.37

UrbanNOx 37.5 37.77 38.84 37.54 43.63 33.99 37.77 39.51

Base Case Ben NOx Urb 20 Ben NOx Urb 30 Ben NOx Urb Ozone 5 Fines NOx Urb Ozone 50 Fines NOx Urb Ozone100 Share gl. measures 10%
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